Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

©
w

0.25
0.2
0.15
0.1
0.05F--+ : AL L
" it L

—s=— DQM_V0001_R000000001__Global__CMSSW_ckf__RECO

.| —— DQM_V0001_R000000001__Global__CMSSW_mkFitOriginal__RECO

iy
TTT T T T

0.95 — A ”ﬂ[ﬂ]

1078 1072 107t

1
TP min AR

[ Efficiency vs dr (track,jet) |
§0.01
n0.009
-
gJ.OOS
9.007
>
2.006
Q
:-'=0.005
@
0.004
0.003
0.002
0.001

1073 1072 107t
AR(TP, jet)

2
o
D009 ---rrrrrrre e
>
>
O D08 vt e ]
c
3]
{0 N T4 = TR CEPPTL EEPLEE SRR TRPRTFRLRF SEPR: ¥

..................................................

Ratio

30 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


